Final ExamPRIVATE 

EC 11

Fall 2009 – make up exam 
Please answer all five questions.  To receive full credit, you must show any work you did to arrive at an answer. Good Luck!!!

1.
The U.S. airline industry is oligopolistic, given that the four largest carriers control more than 60% of the market

a.
Show the price, quantity and profits of American Air Lines. (assume profits are being made)


b.
Explain why American will not change its price.

Part II - Suppose all airline carriers band together and set prices.  Show American's profits within this "cartel".




a.
Show American has an incentive to cheat.

2.
For years, NASA was the sole provider of satellite launching services to U.S. firms.

a.
Show NASA’s price, quantity and profits if it is operated as a profit-maximizing


firm.


b.
Show NASA’s price, quantity and profits if it is operated at the point of technical (economic) efficiency.


c.
What if NASA operates at the point of social efficiency?  Show the price, quantity 


and profits now.

3.
The pharmacy market is characterized by many sellers, each 
with a differentiated set of products.


a.
Show the equilibrium of a typical seller if all firms are making economic profits



b.
Show the long-run equilibrium of the same firm.

4.
Carol is a wheat farmer in Iowa, and due to a recent fall in prices, she is losing money.


a.
Illustrate the equilibrium price, quantity and losses for Carol if she rationally decides to continue to produce.  Make sure you label the losses.


b.
Show the long-run adjustment for both Carol and the market.  Label the points of economic and social efficiency on this graph.  Explain what is good about each.

5.
Please answer both parts:
Part I – Power plants are known to generate significant amounts of pollution, including quantities of greenhouse gases.  These pollutants impose significant costs on society.
-Illustrate the equilibrium price, quantity and profits for an electric utility firm if it is simply allowed to operate as a profit-maximizing firm.  

-Show the price, quantity and profits for the same firm if it has to pay a per-unit cost for its pollution.  Explain why both the price and quantity are better from society’s point of view.
Part II – Explain the problem of public goods as it might relate to traffic lights.  What is a “free rider”, and how does this complicate the issue of public goods?  How might we decide how many traffic lights to purchase?
